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Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9
in chromaticity diagram (x,(F,U), y, (F,U)) X50=1.0,Y55=1.0
Y2(F.U) = Y,(F)-y5(U) %=0.0,B:=1.0
%=[0,9093-0,0138,+0,3338p,/ Xo = X0 (X=Xo)
[2.3587-0,42691,+0,2754p,] Y2 = YooY
V=1[2,3587-0,4268,+0,2754] . 0,1

Xp(F,U) = Xo(F)x,(U)

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9
in chroma diagram (x*, (F,U), y* (F,U)) Xp0=1.0.Y25=1.0

H(FU) =0y [P~ = ¢y Y,(FU)  %=0.0,B:=1.0,¢,=0,91Y 0341

x=[0,9093-0,0138,,+0,3338n,)/ Xp = X0 (X=Xg)
[2:3587-0,42691,+0,2754,] Yo = YooY
Y=1/[2,3587-0,4268,+0,2754,] .
2 2 X" = Oy X0 (X=X)
¥*2= 6 Ya0Y

X5FU) = oy Xp(FU)
=y o) U)]

Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9

in chromaticity diagram (x,(F,M), y,(F,M)) %5=1.0,y,571.0
Y2(F.M) = y5(F) -y (M) %=0.0,B:=1.0

*=[0,9003-0,0138,,+0,3338n,/ Xp = Xp0(X=X¢)

[2,3587-0,426@+0,2754p,] Y2 = YooY
y=1/[2,3587-0,4268,+0,2754,] . 57

Xp(F.M) = Xo(F)x5(M)

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9
in chroma diagram (x*, (F,M), y* (F,M)) Xp0=1.0.Y55=1.0

% (FM) =y [y(F)=(M))] = ¢y Y,(F,M) %=0.0,B=1.0,c,=0,91Y 0-341
¥=[0,9083-0,0138,,+0,33380,)/ Xp = Xa0 (XXo)
[2.3587-0,4269,+0,2754,] Vo= YooY
y:1/[2,358770,426&?0‘275@2]$ o X3 = Gy Xgg (K-X)
¥*2= 6y Ya0Y
X*%(F,M) = cy X, (F,M)
=Cy [Xo(F)=x5(M)]

V xo(F.M) y,(F,M)
0.0 0.0

X =0313
Yy = 0324
Y = 2530

zooNoOAWNR
coocoooooo
ocoooob00
coocoooooo
oooooob00

V x%(F.M) y(F.M)
0. 0.0

X = 0,313
Yy =0324
Y =25.30

ZooNoaAWNE
coococoocooo
Sooooooooo
coococoocooo
Soooooooo

Caen

Caen

-01 g1 VxFU) y,(FU) -0 H 61 VxyFU) yo(F.U)
100015 -0.0279 100014 -0.0271
2 00008 -0.0158 200012 -0.0213
30001  -0.0093 300017 -0.0162
4 00008 -0.0042 4 00017  -0.0089
01,01 5 00002 -0.001 01,01 5 00005 -0.0027
. 6 00002 00006 ||, _ga15 -0,1 . 6 00007 00019
X, =0,313 7 00001 00019 U =0 7 00005 00062
v 8 00003 0003 YU =0.324 8 00014 0011
yy=0.324 9 00006 00041 u=" 9 00025 00167
[VAX) 0.0 Yy, = 25.30 U 00 0.0
Yy=2530 u
CEemny ey
Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9
in chromaticity diagram (x,(F,U), y, (F,U)) X5=1.0,Y,=1.0 in chroma diagram (x*,(F,U), y% (F,U)) X50=1.0,Y,¢=1.0
Y2(F.U) = y5(F) -y (V) %=0.0,B:=0.8 V5(FU) =cy [P~ = oy Yo(F.U)  %:=0.0,B=0.8,0,=0,91Y 0341
%=[0,9093-0,0138,+0,3338p,/ Xo = X0 (X=X x=[0,9093-0,0138,,+0,3338n,)/ Xo = Yo (X—X)
i -0 a0 750 2=l Rribpyiociriiai s Y= veo¥
g 1426854027507 + 0,1 8 4268+0,27540,) X2 = & Xo0(XX0)
¥*2= 6 Ya0Y

Xp(F,U) = Xo(F) (V)

X5FU) = oy Xp(FU)
=y ) 5U)]

Munsell (Renotation)Chroma C = 2 and ValueV =
in chromaticity diagram (x,(F,M), y,(F.M))
YalFM) =Y5(F)-y5(M) 0,808
x=[0,9093-0,0138,+0,33380,/ Xa = X0 (X=Xo)
[2.3587-0,42691,+0,2754,] } Yo = YooY
0,1

, and9
X50=1.0,Y,9=1.0

Y=1/[2,3587-0,4268+0,2754p,]

Xp(F,M) = X5(F)x5(M)

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and9
in chroma diagram (x*, (F,M), y* (F,M)) Xp0=1.0.Y25=1.0
o(FM) =y Vo(F)-(M)] = ¢y Y,(FM) %:=0.0,B,=0.8,c, =091y 0341
x=[0,9093-0,0138,,+0,3338n,)/ Xp = X0 (X=Xg)
oo,

=1/[2,3587-0,42685+0, .=

. ? 2T 0L X" = Oy X0 (X=X)
¥*2= 6 Ya0Y
X*%(F,M) = cy X, (F,.M)
=0y [Xy(F)=%(M)]

—_— A
-0,1 0,1 Vxy(F.U) y,(F.U) -0 0,1 Vx5(F.U) y4(F.U)
00015 -0.0223 100014 -0.0216
2 00 -0.0127 2 00012 -0.017
30001 -0.0075 300017 -0.0129
4 00008 -0.0033 4 00017  -00071
01,01 5 00002 -0.0008 01,01 5 00005 -0.0021
+-01 . 6 00002 00005 ||, _ga5 -0,1 . 6 00007 00015
Xy =0,313 7 00001 00015 u=0 7 00005 00049
v 8 00003 00024 || _g324 8 00014 00088
Yy =0.324 9 00006 00033 u=" 9 00025 00133
[VAX) Yy, = 25.30 U 00 0.0
Yy=2530 v
ey ey
eed50-3n
Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9
in chromaticity diagram (x,(F,U), y,(F,U)) X20=1.0,Y,5=1.0 in chroma diagram (x*, (F,U), y*%(F,U)) Xp5=1.0,Y,5=1.0
Ya(F.U) = ¥o(F)-Yo(U) %:=0.11,8:~1.0 Y%(FU) =cy [o(F)~(U)] = oy Yp(FU)  %:=0.11,B:=1.0,0,=0,91Y 0341

%=[0,9093-0,0138y+0,3338p,]/ Xp = X0 (X—X0) x=[0,9093-0,0138,+0,3338p,)/ Xp = Yo (X—X)
papeimoyie-prias 2=y Teo0-tragotred 2= Yool
Y=1/[2,3587-0,4268,+0; Y=1/[2,3587-0,4268,+0, -
2 24+ 0,1 2 2 X5 = Gy Xa0 (X—X0)
¥*2 = O Y20
X4(F,U) = ¢y X,(F,U)
3] Xo(F,U) = X,(F)=x,(U) =y [x(F)xx(V)]
01 g1 Vx(FU) y,(FU) -0 H 61 Vx5(FU) Y5(F.U)
1 0001 1 00014 -00271
20,0008 2 00012 -00213
3 0001 3 00017 -00162
4 00008 400017 -0.0089
01,01 5 00002 01,01 5 00005 -0.0027
-0,1 B 6 00002 % = 0313 -0,1 . 6 00007  0.0019
xy=0313 70,0001 u=0 7 00005  0.0062
8 0.0003 Yy = 0,324 8 00014 0011
yy=0324 9 0.0006 U= 9 00025 0.0167
U 00 Yy =2530 u 00 00
Yy=2530

-0,1 0,1 V xy(F.M) y,(F.M) 0,1 Vx5(F.M) y*5(F.M)
0.0 0.0 1 00 0.0
2 00 0.0 2 00 00
300 0.0 3 00 0.0
4 00 0.0 4 00 0.0
01,01 5 00 0.0 01,01 5 00 0.0
-0,1 . 6 00 0.0 -0,1 . 6 00 0.0
Xy =0,313 700 0.0 700 0.0
8 00 0.0 8 00 00
Yy = 0,324 9 00 0.0 9 00 0.0
M 00 0.0 M 00 0.0
Yy = 25,30
sy e
eed51-3n
Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9 Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9
in chromaticity diagram (X, (F,M), y»(F.M)) X571.0,Y,=1.0 in chroma diagram (x*,(F,M), y%(F.M)) Xp5=1.0,Y,5=1.0
Ya(FM) =Y5(F)-y5(M) %=0.11,8:1.0 Y2(FM) =y [y(F)-(M))] = oy ,(FM) X=0-11,B=1.0,6,=0,91Y 034

%=[0,9093-0,0138,+0,3338p,]/ Xp = Xp0(X=X¢)

[2,3587-0,426@+0,2754p,] Y2 YooY
Y=1/[2,3587-0,4268,+0,275405] 1 94

X(F,M) = X5(F)-Xxo(M)

¥=[0,9093-0,0138,+0,3338p,/ Xp = X0 (X=X¢)
[2.3587-0,42691+0,27540;] $ Y2= YooY
¥=1/[2,3587-0,4268,+0,275%0;] 1. -] X*5 = Gy Xo0(X=Xg)
¥*2= O Y20
X*%(F,M) = cy X, (F,M)
=y [x(F)=x(M)]

V xy(F,M) y,(F,M)
0.0 0.0

0 0.0
0.0 0.0
Xy =0.313

Y =0.324
Yy = 25,30

zomNOORWNR
coooooo
coooooo

V xy(F.M) y(F,M)

1 ‘o0 0
2 00 00

3 00 0.0

2 00 00

5 00 00

- 6 00 00

*w =0.313 7 00 00
- 8 00 00

M = 0324 9 00 0.0
Yy = 25.30 M 00 00

Gea50-53

Tea50-6a

e

e

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9
in chromaticity diagram (x,(F,U), y, (F,U)) %20=1.0,Y,5=1.0
¥a(F,U) = y5(F)-yo(V) %=0.11,8:~0.8
%=[0,9093-0,0138,+0,3338p,]/ Xp = Yo (X=X
[2,3587-0,426@+0,2754p,] Y2 YooY
Y=1/[2,3587-0,4268,+0,27545] 1. (1

Xp(F,U) = Xo(F)X,(U)

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9
in chroma diagram (¢, (F,U), y*,(F,U)) Xp71.0,Y571.0
Y5(F.U) = oy [y(F)~(U)] = ¢y y,(F,U)  %=0.11,B:=08,c,=0,91Y 034

¥=[0,9093-0,0138,+0,3338p,/ Xp = X0 (X=Xc)
[2:3587-0,42691,+0,27540,] Y2 = YooY
=1[2,3587-0,4268+0,275 . =
V=1 9,40.2754,] X0 = &y Xap =)
¥*2= O Y20
X%(F,U) =cy X,(F,U)
= Cy [Xa(F)x5(U)]

-0,1 0,1 Vxy(F.U) yy(F.U)
1 00015 -0.0223
2 00008 -00127
30001  -0.0075
4 00008 -00033
01,01 5 00002 -0.0008
=+-0,1 . 6 0.0002  0.0005
xy=0313 7 00001 0.0015
8 00003 0.0024
Yy =0324 9 00006  0.0033
U 00 00
Yy=2530

Vxiy(F.U) yi(F.U)

1 00014 00216
2 00012 -0017

300017 -00129

400017 -0.0071

o1 01,01 5 00005 -00021
B -0, . 6 00007 00015
xy =0313 7 0.0005 0.0049
B 8 00014 00088
yy=0324 9 00025 00133

Yy=2530 U 00 00

Munsell (Renotation)Chroma C = 2 and ValueV =1, 5, and 9

in chromaticity diagram (x,(F,M), y,(F.M)) Xp371.0,Y5571.0
Y2(F.M) = y5(F) -y (M) %=0.11,8:=0.8

%=[0,9093-0,0138,+0,3338p,]/ Xp = Yo (X=X

[2,3587-0,426@+0,2754p,] Y2= YooY
y=1/[2,3587-0,4268,+0,2754,] . () 1

Munsell (Renotation)Chroma C = 2 and ValueV = 1, 5, and 9

in chroma diagram (x*,(F,M), y%(F,M)) %=1.0,Y,5=1.0
Y2(FM) =cy [Yo(F)~(M)] = oy Yo(FM) X:=0.11,8:=0.8,0,=0,91Y 0341

¥=[0,9093-0,0138,+0,3338p,/ Xp = X0 (X=Xc)

[2,3587-0,42690,+0,27540,] V2= YooY
V=U/[2,3587-0,4268,+0,275: . =
[ % Pl 4 0,1 X2 Gy Xap (X-X0)

| eed50-7n

Gea50-7a

Ged50-5a

¥*2= O Y20
X4(F.M) = ey Xp(F,M)
Xo(FM) = Xo(F)=Xo(M) =y [X(F)=x(M)]
-0,1 01 V xo(F.M) y5(F.M) Vx(F.M) y5(F,M)
1 00 00 10 [)
2 00 2 00 00
3 00 00 3 00 00
12 00 00 4 00 00
oa W § 88 60 g %8 99
- . -
= 0313 ! 7 00 00 XM = 0,313 700 00
8 00 00 iy = 0324 8 00 00
Yy =0324 9 00 0.0 M= 9 00 0.0
M 00 00 Y = 25.30 M 00 00
Yy = 25,30 M
e Ta e
eed51-7n

TUB-test chart eed3Viunsell (RenotationChromaC = 2 and Value (lightnes§j=11to 9
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in chromaticity and chroma diagranxg;= 0,00 or 0,11B. = 1,0 or 0,8, normalization U and M
C M Y (0] L \Y




